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Real Estate Financial Modeling 
– Certification Quiz Questions 

Module 5 – 4-Hour Office/Retail Acquisition & Renovation Modeling Test (45 
Milk Street) 

 

1. You are working on a model for the acquisition of a 61,000-square-foot mixed-use 

office/retail property in Boston. This Class-B property currently has 5 tenants, all paying 

below-market rent, and your firm plans to spend $20.5 million (7.5% Going-In Cap Rate) 

to acquire the property, renovate it, boost rents to market rates, and attract 2 new 

tenants to boost the Occupancy Rate from 83% to 100%. 

You have created a tenant-by-tenant schedule for the key line items on the Pro-Forma. 

The Leasing Commissions are based on each tenant’s total lease value over the lease term 

multiplied by a percentage between 2% and 7% depending on the scenario. 

The formula for the Leasing Commissions (LCs) for the anchor tenant, WeWork, is shown 

below for the first month after initial lease expiration. Is this formula correct? 
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a. No – the LCs should be incurred in the month of the lease start date in each case 

(initial, renewal, and non-renewal), not 1 month after that. 

 

b. No – the LCs do not need to be probability-weighted because the Escalated Rent 

figures have already been weighted. 

 

c. No – the FV function won’t work as intended here because it does not handle the 

case where the rental escalation occurs midway through the year. 

 

d. No – this formula does not handle the case where the property’s NOI is insufficient 

to pay for the LCs in a given month. 

 

e. Yes, this formula is correct as is. 

 

2. Tenant #5 (Trader Joe’s) in this same property has a NNN lease with Percentage Rent. The 

Percentage Rent has an Artificial Breakpoint at $500,000 in monthly sales; the tenant will 

owe 4% of any amount over that $500,000. This Breakpoint is adjusted up by a small 

percentage each year based on overall retail sales growth. 

The Percentage Rent formula is shown below (AU18 is the Retail Sales Growth Multiplier): 
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Your co-worker argues that this formula is correct because there could potentially be 

Percentage Rent as long as the initial lease has begun. Is he/she correct? 

a. No – the MAX part should be a MIN instead. 

 

b. No – it’s only checking the initial lease start date, but not the lease expiration date. 

 

c. No – it’s not multiplying by the Renewal Probability in the case where the lease 

expires, and there’s a period of downtime without a tenant. 

 

d. Yes, your co-worker is correct about this formula. 

 

3. This property’s Pro-Forma, down to Adjusted NOI in the Base Case, is shown below: 
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In this Base Case, 1 new tenant moves in, so the final Occupancy Rate is 93%, and all 5 

existing tenants begin paying Market Rental Rates upon lease expiration. The new tenant 

pays a Market Rate upon move-in as well. 

Based on the description here and the screenshot above, what is the GREATEST 

WEAKNESS of this property and deal? 

a. It appears that there’s a high concentration of lease expirations in Year 3 (FY 21), 

indicating a poorly staggered rent roll or too few tenants. 

 

b. The Replacement Reserves are insufficient to meet the property’s capital costs 

throughout the holding period. 

 

c. Too much of the Renovation CapEx is spent in the first 2 years (FY 19 and FY 20), 

which is problematic since the TIs and LCs also increase significantly in FY 20. 

 

d. It is unrealistic for both the Loss to Lease and the General Vacancy to become less 

negative at the same time since the Base Rental Income keeps increasing. 

 

e. Even though the property’s value dips and rises over this holding period, it appears 

that the Property Taxes keep increasing at a low rate each year. 

 

4. Referring to the same screenshot above, what is the MOST LIKELY reason why the “Loss to 

Lease” line item does not reach $0 by the Stabilized Year if all the tenants begin paying 

Market Rental Rates? 

a. Some of the tenants have concessions or other terms that temporarily grant them 

lower in-place rent when they first move in. 

 

b. The Base Rental Income is based on a Market Rate that changes each month, but the 

tenants’ rent only changes on an annual basis. 

 

c. The “Market Rental Rate” may be different for different tenants, depending on the 

space occupied or the lease term. 

 

d. The Base Rental Income has been probability-weighted, but the Loss to Lease has 

not. 
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5. This deal is funded by a Senior Loan at a 65% LTV and Mezzanine at a 10% LTV. The initial 

Senior Loan Interest Rate is 5.90%, and it increases to 6.80% over the holding period. It 

has a 2-year Interest-Only Period, 30-year Amortization after that, and a 5-year Maturity. 

Additionally, ~21% of the initial Senior Loan amount is held back and released over time 

as the property renovation is completed. 

The Returns to Senior Lenders in the Base Case are shown below: 

 

What is the PRIMARY reason why the Senior Lenders earn an IRR that’s higher than the 

~6% initial Interest Rate? 

a. The Issuance Fee, which is ~1.3% of the initial Senior Loan Issued. 

 

b. The Interest Rate is floating and increases by nearly 1.0% over the holding period. 

 

c. The Principal Repayment returns some funds to the Senior Lenders before the exit in 

Year 4. 

 

d. The Prepayment Penalty, which adds ~1% of the final Senior Loan balance to the exit 

proceeds. 

 

e. The Holdback, which delays distribution of ~21% of the total loan amount. 
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6. Initially, the LPs contributed 90% of the Equity to fund this deal, and the GPs contributed 

the remaining 10%. 

The Waterfall Returns Schedule, which includes an 8% Preferred Return for the LPs, a 20% 

Catch-Up Return for the GPs, and an 80% / 20% cash flow split between the LPs and GPs 

after that, is shown below in the Base Case: 

 

The key sensitivities across different cases, Exit Cap Rates, acquisition prices, renovation 

costs, and LTVs are shown below as well: 
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Based on these results, what is the most REALISTIC way to improve this deal’s returns for 

the General Partners while still keeping it acceptable for the Limited Partners? 

a. Reduce the acquisition price to the $17 – $18 million range. 

 

b. If Cap Rates are too high by Year 4 due to an ongoing market downturn, hold the 

property until they fall to lower levels. 

 

c. Use a lower Senior Loan LTV and negotiate for a lower LP Preferred Return in 

exchange for a higher GP Equity contribution or a lower Catch-Up Return. 

 

d. Reduce the Renovation Costs to 10% of the acquisition price rather than 15%. 

 

e. All of the above are equally realistic ways to improve the deal for the GPs while 

keeping it acceptable for the LPs. 
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